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no parameter, no return value

def print_script() :

\_

print(“result of first function call, ”)
print("=" * 25)
print_script() # first function call

def repeat_script() :

print("result of second function call, ")
print("=" * 25)
repeat_script()  # second function call

print("Blessed are the poor in spirit,")
print("for theirs is the kingdom of heaven.)

print(" ")

Blessed are the poor in spirit,
for theirs is the kingdom of heaven,

print_script()

) ) result of second function call,
print_script()

Blessed are the poor in spirit,
for theirs is the kKingdom of heaven,

Blessed are the poor in spirit,
for theirs is the kingdom of heaven,

e |
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parameters, no return value

@f print_chr(times) :

for i in range(times) :
print(“*")

print(“result of first function call, ")
print("="* 25)
print_chr(5)

def print_line(t) :
print("*" * t)

print("result of second function call, ")
print("=" * 25)
print_line(10)

\_
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parameters, return value

/def plus(num1, num?2) : \

return num1 + num?2

result_plus = plus(2, 12)
print("result of plus(2, 12) ")
print(result_plus)

def mul(num1, num?2) :
return num1 * num?2

—====== RESTART: E:f1_WDrHSR

result_mul = mul(2, 12) N ______

print("result of mul(2, 12) ")
print(result_mul) qiﬁu 't of plus(2, 12)

result of mul(z, 12)

24
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Parameters and Arguments 1

- 2= LHO| M, Q1= T(arg ument)= OH 7l 'H 5= (parameter)
ct= Ha0f 2L A2 o X[ EICH
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def print_twice( something ) :
print(something) hﬁm\

print(something)

print_twice( ’Love’\g

Argument

N /

Parameter




Parameters and Arguments 2

-

\_

>>>def print_twice( something ) : \

print(something)
print(something)

>>> print_twice( ‘Love is real’)

e —_———— e _———

| Love is real

Lowve is real
-

>>> print_twice(sentence)

i
i
You
You
i

( >>> sentence = 'YOU SHALL LOVE YOUR NEIGHBOR '

CLThRT T T TR

sentence = 'YOU SHALL LOVE
print twice (sentence)
SHALL LOVE YOUR NEIGHECR
SHALL LOVE YOUR NEIGHECR

YOUR

»»> def print twice( something )
print (something)
print (something)

>»>» print twice ("Love is real")
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Parameters and Arguments 3

/>>> def User_pow(number1, number?2): \

result = 1
if number2 == 0:
result = 1
else:
for i in range(number?2):
result = result*number1

prlnt(reSUIt) »>>» def User pow(numberl, number2):
result = 1
if number?2 == 0:

>>> User_pow(2,0) . result = 1
T for i in range (numberl) :
>>> User_pow(2,3) result = result*numberl
8 print (result)
\ »¥» User pow(2,0)
1
»¥>» User pow(d,3)
B

wuy |



Parameters and Arguments 4

ﬂ>> def User_Max(number1, number2, number3): \

Max = number1

if number2 > number1 and number2 > number3:
Max = number2

if number3 > number2 and number3 > number1:
Max = number3

»>>» def User Max(numberl, numberd, number3):
print(Max) Max = numberl
if number? > numberl and number? > number3:
Max = number?
if nmumber3 > number? zand number3 > numberl:

>>> User_Max(1,2,3) Max = number3
3

print (Max)

>>> User_Max(3,2,1)
3

User Max(1,2,3
>>> User_Max(1,3,2) S7 dses axit.s, )
3 >>> User Max(3,2,1)

3
\ »>» User Max(1l,3,2)
3

g




return statement 1

o Bt Hi2hEOf| return =0O| GICHH
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return statement 2

ﬂdefine function plus(a, b) \

def plus(a, b)) :
return( a+b)

I = plus(3, 5)
print("return value of function plus(3,5) =", i)

# define function plus_list( listname )

num_list=[1,3,5,7,9] oo
def p|US list( listname ) : return value of funtion plus(3,3) = 8
sum = 0 3 &

for i in listname :

. 22
sum = sum-+i

return value of funtion plus 1ist([1,3,5,7,3]) =

(23, [1, 3, 3, 7,

print (i, sum)
return sum, num_list

pl=plus_list(num_list) #function call

print("return value of funtion plus_list([1,3,5,7,9]) = ", pl)/




return statement 3

def fahrenheit(celsius) :
# returns the temperature in degrees Fahrenheit
return (celsius * 9/ 5) + 32

for tin (22.6, 25.8, -10, 0.0) :
print("celcius = "t, "farenheit = ", fahrenheit(t))

\_ S
========= RESTART: D:/1_Works /201 Work/
=0t0|2 % = &
celcius = 22.6 farenheit = 72,68
celcius = 25.8 farenheit = 73,44
celcius = -10 farenheit = 14.0
celcius = 0.0 farenheit = G320

|
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def Multi(number1, number?2):
result = number1 * number2
return result




Of| | 1

ﬂdefine sum(n1, n2, n3) function

def sum(i, j, k) :
return i + j+ k

for i in range(10) :
print(i, " + ", i+1, "+ " 0i+3, " =", sum(l, 1+1, 1+3))

print(" = " * 30)

a = int(input(" enter first integer = "))
b = int(input(" enter second integer = "))
c = int(input(" enter third integer = "))

print(a, "+ ", b, " +",c " =" sum(a b, 0)

kprint(" ="'

' * 30)
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# define ex function ; exchange list element\ H# o~

def exchange(listN,i,) :
temp = listN[i]
listN[i] = listN[j]
listN[j] = temp

nums=[1,3,5,7,9,11]

print("*"*50)
print(hnums)
print(fr)

exchange(nums,0,1)

exchange(fr,0,1)

print("exchange index 0,1 = ", nums)
print(fr)

%ontinue to..

fr=["apple’, 'banana’, 'bluberry’, 'lemon’, 'melon’]

4 )

exchange(nums,1,4)
exchange(fr,1,4)

print("exchange index 1,4 =",
nums)
print(fr)

print("*"*50)

\_ J

A A A A A AN A AN AR AN

(1, 3, 5, 7, 9, 11]

['apple', 'banana', 'bluberry', 'lemon', 'melon']
exchange index 0,1 = [3, 1, 5, 7, 9, 11]
['banana', 'apple', 'bluberry', 'lemon', 'melon']
exchange index 1,4 = [3, 9, 5, 7, 1, 11]
['banana', 'melon', 'bluberry', 'lemon', 'apple']
R L AR LSRR SRS ENE Nttt is ittt dslyyy
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tH ==(Global Variable)
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tH == (Local Variable)

 Variable with local scope

 Variable with global scope
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global count
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M HH =2=(Global Variables)

- LHO| M QIE|TE|E| WM &= X8 ot=

2 H3o|C)

. O{C| o) AL} AFR 7H5 % 40| C}
>>> count = 10
>>> count = count + 1

>>> count
11



X| 9 2=(variables with Local Scope)

/ def fun(count):
a =5

return count

count = 0

print(count)

o

count = count + a

# count: local scope

# a: local scope

# count: global scope

print(‘result = ', fun(count))

# count: global scope

/

count

.

~N

)

Module scope

\_

count a

)

Function fun()

\

>»» def fun{count):

a=5
count = count + a
return count

*»>» count = 0

*»> print('result = ', fun{count))
result = 5

>>» print (count)

0

Frr




M A B 2=(Global Variables inside a

function)

/def fun(count): #count: local scope \
global a
a=>5 #global a is changed

count = count + a
return count

a=0 #count: global scope
print(‘result = ', fun(count))
print(a) #count: global scope
»>»» def fun({count): fcount: local scope
global a
\\\‘ a=>5 #global a2 iz changed
count = count + a
return count
»»ra =10
»»>» print({'result = ', fun({count))
result = 5

>»> print(a)
5
>33 |
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